GRADE  7                                               Health                                       Lesson #6

ADULT  CPR

What does CPR stand for?  CARDIOPULMONARY  RESUSCITATION
Cardio refers to the __  __  __  __  __.
Pulmonary refers to the __  __  __  __  __.

The adult chain of survival has 4 links.
1 – Call 911
2 -  CPR
3 -  AED
4 -  Advanced Care  (paramedics or EMTs)   What does EMT stand for? _______  _______  _____

If the victim is in cardiac arrest, it means the heart has _____________.
Once the heart stops pumping blood it takes about __ minutes for brain death to begin due to 
lack of oxygen.
After the heart stops beating brain death will be certain in __  __  minutes.

There are three reasons why a person can stop performing CPR and not be guilty of abandonment.
1 – The rescuer becomes T__  __     T __  __  __  __.

2 - S_______________ else T_____________   O_____________.

3 – The victim S __  __  __  __  __  to  B______________.

There is a 4th reason to stop CPR temporarily and that is to attach the __  __  __.

What is BLS?  B  __  __  __  __           L  __  __  __           S  __  __  __  __  __  __
Who is BLS? _________    ___________

What is ACLS?  Advanced    C  __  __  __  __  __  __       L  __  __  __        S  __  __  __   __  __  __ 
Who is ACLS?  ____________________    and ______________
 
There are some differences when performing CPR on an infant, child, or adult.
Infant CPR is considered if the victim is 0 to __ year of age.
Child CPR is if the victim is from __ year of age to P __ __  __  __ TY.
Adult CPR is considered if the victim has reached puberty.

What does AED stand for?  Automated External Defibrillator is a computerized medical device that identifies abnormal (shockable) cardiac rhythms.  
